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All Candidates' performance across questions

Question Title N Mean S D Max Mark F F Attempt %
1 1898 5.4 1.1 6 90 100
2 1892 2.1 1.1 3 69.5 99.6
3 1782 1.6 0.7 2 81.7 93.8
4 1897 3.6 1.2 5 72.4 99.9
5 1896 5.5 0.7 6 91.7 99.8
6 1878 4.5 1.6 6 74.9 98.9
7 1829 0.9 0.3 1 87.1 96.3
8 1892 6.5 2.4 10 65.5 99.6
9 1790 3 1.8 5 59.8 94.3

10 1849 3.9 1.7 5 78 97.4
11 1652 1.2 1.2 3 39 87
12 1806 3.3 1.8 5 65.1 95.1
13 1811 3 1.7 5 59.4 95.4
14 1882 2 1 3 66.7 99.1
15 1718 0.5 0.9 2 24.3 90.5
16 1601 1.2 1.7 4 29.8 84.3
17 1585 0.9 1 2 44.3 83.5
18 1642 1.4 1.3 3 46.7 86.5
19 1738 1.2 1.7 4 31 91.5
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Sticky Note
Usually the question number

Sticky Note
The number of candidates attempting that question


Sticky Note
The mean score is calculated by adding up the individual candidate scores and dividing by the total number of candidates. If all candidates perform well on a particular item, the mean score will be close to the maximum mark. Conversely, if candidates as a whole perform poorly on the item there will be a large difference between the mean score and the maximum mark. A simple comparison of the mean marks will identify those items that contribute significantly to the overall performance of the candidates.
However, because the maximum mark may not be the same for each item, a comparison of the means provides only a partial indication of candidate performance. Equal means does not necessarily imply equal performance. For questions with different maximum marks, the facility factor should be used to compare performance.


Sticky Note
The standard deviation measures the spread of the data about the mean score. The larger the standard deviation is, the more dispersed (or less consistent) the candidate performances are for that item. An increase in the standard deviation points to increased diversity amongst candidates, or to a more discriminating paper, as the marks are more dispersed about the centre. By contrast a decrease in the standard deviation would suggest more homogeneity amongst the candidates, or a less discriminating paper, as candidate marks are more clustered about the centre.


Sticky Note
This is the maximum mark for a particular question


Sticky Note
The facility factor for an item expresses the mean mark as a percentage of the maximum mark (Max. Mark) and is a measure of the accessibility of the item. If the mean mark obtained by candidates is close to the maximum mark, the facility factor will be close to 100 per cent and the item would be considered to be very accessible. If on the other hand the mean mark is low when compared with the maximum score, the facility factor will be small and the item considered less accessible to candidates.


Sticky Note
For each item the table shows the number (N) and percentage of candidates who attempted the question. When comparing items on this measure it is important to consider the order in which the items appear on the paper. If the total time available for a paper is limited, there is the possibility of some candidates running out of time. This may result in those items towards the end of the paper having a deflated figure on this measure. If the time allocated to the paper is not considered to be a significant factor, a low percentage may indicate issues of accessibility. Where candidates have a choice of question the statistics evidence candidate preferences, but will also be influenced by the teaching policy within centres.
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(4353-01)

Examiner
only

6.	 You will be assessed on the quality of your written communication in this question.

	 Jane has £15 to spend on buying packets of biscuits.
	 A packet of biscuits costs 89p.

	 She buys as many packets of biscuits as possible.

	 How many packets of biscuits does she buy and what change does she receive?
	 Show all your working.	 [6]
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Sticky Note
This candidate has correctly answered the question and has scored 4 marks for finding the number of packets of biscuits and the correct change. 
The question also allows 2 marks for assessment of the quality of written communication (QWC). 
This candidate has not presented work with words explaining process and steps and so would not be awarded full marks. 
This was frequently the case.
Marks awarded: M1 A1 M1 A1 QWC1





Sticky Note
The number of packets of biscuits and the change has been calculated correctly but the answer uses incorrect units. 
£0.76 or 76p would be correct answers. 
0.76p is not correct. 
This was an error made by many candidates and lost one mark.
Marks awarded: M1 A1 M1 A0 QWC1

Sticky Note
This candidate has not presented work with words 
explaining process and steps and so would not be awarded full marks for QWC.





Sticky Note
This candidate has the correct answer, 
has consistent use of £ and p,
presents work clearly with words explaining process and steps and has made few mistakes with mathematical form, spelling, punctuation and grammar in their final answer.
This candidate would receive full marks.
Marks awarded: M1 A1 M1 A1 QWC2

Sticky Note
There is a spelling mistake at this point as "recieved". 
QWC2 can still be awarded.
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(ii)	 Midday temperature readings were also recorded on the first day of each month in
Paris.

The mean was found to be 15·8°C and the range was 29°C.

Use the mean and range to compare the temperatures recorded in Cardiff and
Paris.	 [2]

8b



8b



 

 

 

Sticky Note
The aim of this question was to use the mean and range to make a comparison
of the temperatures recorded in Paris and Cardiff. 
A correct statement in context involving mean and range with interpretation 
was the criteria for two marks.
This candidate, like many others made only a numerical comparison, not in context and without interpretation and so did not score on this question part.
MARKS AWARDED: B0





Qu 8 (bii) 

 

Sticky Note
This candidate has made a correct statement involving mean ("Paris maybe hotter") and range ("Cardiff has a more constant temperature").
Marks awarded: B2





Qu 8bii 

 

Sticky Note
This candidate has made an attempt to make a comparison of the mean temperature with interpretation. ("Paris is warmer than Cardiff"). The interpretation of the range is not correct and so this candidate scored one mark on this question part.
MARKS AWARDED: B1
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11.	 A jug holds one and a half litres of water when full.
	 A tank has dimensions 25 cm by 24 cm by 20 cm.

© WJEC CBAC Ltd.

24 cm

25 cm

20 cm

Diagram not drawn to scale

	 How many full jugs of water will it take to fill the tank?	 [3]

	

	

	

	

	





 

Sticky Note
A common problem was the inability to find the volume of a cuboid.
MARKS AWARDED: M0 m0 A0

Sticky Note
A common error was to use 100cubic cm = 1 litre.





ebbswm
Sticky Note
The conversion of metric units of volume caused
 a problem in many cases.
Here 100 was the conversion factor used.
MARKS AWARDED:
M1 m0 A0





11 

 

 

Sticky Note
Some candidates correctly converted the volume of the tank into litres rather than convert the volume of the jug.
This was a successful approach for many.
MARKS AWARDED:
M1 m1 A1



(4353-01) Turn over.

13
Examiner

only
13.	 Mr Jones pays for his gas by 12 equal monthly payments.
	 Each monthly payment is worked out using the following information.

	 •	 Mr Jones uses 15 000 units of gas in a year.
	 •	 The cost of gas is 4.028 pence per unit used.
	 •	 There is a fixed charge of £6.98 per month.
	 •	 There is a discount of £48 per year.

	 Calculate Mr Jones’s monthly payment.	 [5]
	 You must show all your working.
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13. 

 

Sticky Note
The candidate correctly added the monthly
fixed charge to the figure they believed was the
cost of units per month, in £.

The candidate correctly converted the annual discount to a monthly discount (B1) but sadly added the discount to the costs of, instead of subtracting.

To score the second M1 mark, the discount, fixed cost and time scale all had to be dealt with correctly.
MARKS AWARDED:
M1 A0 B1 M0 A0

Sticky Note
The candidate has correctly worked out the cost of units in a month by finding the number of units used in a month.
Sadly the candidate has wrongly converted pence to £ by dividing by 10 instead of 100. 





Sticky Note
The final answer is incorrect due to the single error made in the conversion of pence to pound.
MARKS AWARDED: M1 A1 B1 M1 A0

Sticky Note
Correct division by 12 to establish monthly cost, as required.

Sticky Note
Correct deduction of annual discount.

Sticky Note
Correct multiplication by 12 to convert to annual charge

Sticky Note
Correct addition of a monthly amount of fixed charge.

Sticky Note
Incorrect conversion of pence to pounds for the cost of units. This was a common error.

Sticky Note
Correct calculation of "cost of units of gas used" in pence and division by 12 for monthly cost.





Sticky Note
This is an example of a good answer. 
The candidate has correctly dealt with conversion from £ to pence as well as the cost and discount involved in a month or year. At Foundation Tier, this question did not allocate marks to QWC but was a common question with the Higher Tier. This is an example of a good answer for the Quality of Written Communication.
MARKS AWARDED: M1 A1 B1 M1 A1



(4353-01) Turn over.

16.	 Two brothers, Gethin and David, share a sum of money in the ratio 2 : 7.
	 David gets £30 more than Gethin. Calculate how much money the brothers share.	 [4]
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Sticky Note
The most common misconception was to divide £30 in the ratio of 2:7.
This candidate has divided by 9 and has not understood the information in the question.
The question was designed to assess thinking skills (AO3) rather than the skill of simply dividing in a ratio (AO1).
MARKS AWARDED: M0 A0 m0 A0





Sticky Note
This candidate has correctly recognised that 
one share is £6 and has correctly identified the amounts of money that David and Gethin receive.
The question, however, asks for the amount of money that the brothers share (£54) and so this candidate has not answered the question.
MARKS AWARDED: M1 A1 m1 A0





Sticky Note
This candidate has correctly answered the question and found the amount of money that the brothers share.
MARKS AWARDED: 
M1 A1 m1 A1
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18 


June 2014 UNIT 3 (calculator allowed) 


Foundation Tier 
 Mark Comments 


6. (number of packets=)(£)15 ÷ 0.89


(=16.853932..) 


16 (packets can be purchased) 


(Change=)(£)15 - 16 × (£) 0.89 or 


1500(p)−16×89(p) 


(£)0.76 or 76(p) 


Look for 


 Spelling


 Clarity of text explanations,


 Consistent use of £ or p signs.


QWC2: Candidates will be expected to 


 Present work clearly, with words


explaining process and steps


AND 


 Make few, if any, mistakes in


mathematical form, spelling, punctuation


and grammar in their final answer.


QWC1 : Candidates will be expected to 


 Present work clearly, with words


explaining process or steps


OR    


 Make few, if any, mistakes in


mathematical form, spelling, punctuation


and grammar in their final answer.




















M1 


A1 


M1 


A1 


QWC 


2 


6 


1500 ÷ 89 


or appropriate method. 


FT number of packets of biscuits 


A0 for £76 or 0·76p 


QWC2 Presents relevant material in a coherent 


and logical manner, using acceptable 


mathematical form, and with few if any errors in 


spelling, punctuation and grammar. 


QWC1 Presents relevant material in a coherent 


and logical manner but with some errors in use 


of mathematical form, spelling, punctuation or 


grammar. 


OR 


Evident weakness in organisation of material but 


using acceptable mathematical form, with few, 


if any, errors in spelling, punctuation and 


grammar. 


QWC0 Evident weakness in organisation of 


material, and errors in use of mathematical 


form, spelling, punctuation and grammar. 
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June 2014 UNIT 3 (calculator allowed) 


Foundation Tier 
 Mark Comments 


8. 8b(i) and 8b(ii) ribbon marked


8b(i) to be viewed with table below 


(b)  (i)  Sum of numbers (126) 


Sum/12 


(mean=) 10·5 (°C) 


       (range = 21 – 1=) 20 


      (ii) A correct statement, in context, involving 


meanand range with interpretation. 














M1 


m1 


A1 


B1 


B2 


6 


For an attempt to add the numbers 


For a division by 12. FT one slip. 


(1+4+2+7+11+16+17+21+19+10+7+11)/12 gets 


M1 m1 


CAO 


B1 for a numerical comparison of mean and 


range with correct interpretation of one of mean 


or range. 
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June 2014 UNIT 3 (calculator allowed) 


Foundation Tier 
 Mark Comments 


11.25×24×20 (cm
3
) OR 25×24×20÷1000 (litres) 


   ÷1500 (cm
3
)                            ÷1∙5(litres) 


        8 (jugs) 


M1 


m1 


A1 


3 


Or correct volume in units. 


Consistent units 


CAO 
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June 2014 UNIT 3 (calculator allowed) 


Foundation Tier 
 Mark Comments 


13. 


 (Annual cost of units) 15000×4.028(p) 


         60420(p) or (£)604.2(0) 


(Fixed charge per year £6.98 × 12 =) (£)83.76 


(cost of units + fixed charge per year – 48) ÷12 


(£639.96÷12 or 63996÷12) 


(Monthly payment=) (£)53.33 or 5333(p) 

















M1 


A1 


B1 


M1 


A1 


5 


Alternative mark scheme- Monthly cost 


(Monthly cost of units=)15000÷12×4.028(p) 


 (£)50.35 or 5035(p) 


(Monthly discount=)(48÷12=)(£)4 


(£)604.2(0) ÷12 + 6·98 – 4 . 


(=£50·35+6·98 – 4) 


(Monthly payment=)(£)53.33 or 5333(p) 
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June 2014 UNIT 3 (calculator allowed) 


Foundation Tier 
 Mark Comments 


16. 5 parts = 30 OR  30 ÷ 5  OR 7x – 2x = 30
OR equivalent 


         (1 part) = 6 


(Amount shared =) 6 × 9 


= (£) 54 














M1 


A1 


m1 


A1 


4 


Accept 5/9=30 


FT their 1 part, provided M1 awarded. 


Award M1A1m1 A0 for answers of £12 and £42. 
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